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PART I: LISTENING (10 Points)
Listening - Note Taking

A. Instruction: Choose the correct answers based on your notes from the listening. (10x1=10pts.)

1. When did the engineers start working on ENIAC?
A) At the beginning of World War I1

B) At the beginning of World War I

C) In the middle of World War II

D) In the middle of World War I

2. Why did the army want to build an electronic computer?

A) Soldiers couldn’t do the calculations faster.

B) Scientific projects of the army were slow.

C) Women, the computers, did the calculations carelessly.

D) Women, the computers, were slow to calculate and made errors.

3. Who was John Mauchly?
A) Psychologist

B) Computer engineer

C) Physicist

D) Electrical engineer

4. Why was John Mauchly interested in building a new type of computer at first?
A) He wanted to guess weather conditions.

B) He joined the project in the army.

C) He was studying electrical engineering.

D) He loved to design complex electronic devices.

5. What was the size of ENIAC?
A) 180 square-feet B) 18.000 square-feet C) 1.800 square-feet

6. How many calculations could ENIAC do per second?
A) 500 B) 5500 C) 550

7. Which is NOT true about ENIAC?

A) It took 2 years to build ENIAC.

B) ENIAC was finished in 1945.

C) They started to build ENIAC in 1943.

D) ENIAC was shown to the public in 1945.

8. What did the newspapers and magazines call ENIAC?
A) Electronic Brain B) Electrical Brain C) Engineers’ Brain

9. Which is NOT true for Eckert and Mauchly?

A) They built two new types of computers.

B) They earned a lot of money after the ENIAC project.
C) They started their own companies.

D) They kept working with computers as their careers.

10. What is the MAIN IDEA in the lecture?

A) Eckert and Mauchly were the first designers of a computer.

B) ENIAC was designed to calculate.

C) ENIAC was the first electronic computer that made calculations easier.
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D) 180.000-square-feet

D) 5000

D) Eccentric Brain



D) ENIAC was an important invention for Eckert and Mauchly during their careers.
PART II. READING (16 Points)

Reading 1: “The Capital of Cool”

A. Instructions: Read the text in the appendix and choose the correct answer. (4x1=4pts.)
11. Using public transportation is the best idea in Amsterdam.

A) True B) False

12. All the ordinary buildings in Amsterdam are worth seeing.
A) True B) False

13. Amsterdam looks like Brussels as a city.
A) True B) False

14. You can find food from different parts of the world in Amsterdam.
A) True B) False

B. Instructions: Read the text “The Capital of Cool” in the appendix and choose the correct answer (4x1=4pts.)
15. What does the word ‘merchants’ mean in the text?
A) craftsmen B) renters C) tradesmen D) architects

16. After the war, the city of Amsterdam
A) was based on an American model

B) experienced hard times

C) was built by 17" century architects
D) was not re-developed

17. We can understand from the text that Brussels
A) was spoiled by the American model

B) is more important than Amsterdam

C) is more attractive than Amsterdam

D) was built by merchants

18. Which point about Amsterdam is NOT mentioned in the text by the writer?
A) It has beautiful buildings to look at.

B) It is cheap to live in.

C) It offers a type of food that is special to the Dutch.

D) It has museums and works of art to see.
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Reading 2: “Medical Tourism”
A. Instructions: Read the text and choose the correct answer. (4x1=4pts.)

19. It used to be more expensive to travel for medical reasons.
A) True B) False

20. Maria Paphitis could not find a dentist in the UK.
A) True B) False

21. Maria Paphitis had to wait for a long time to see a dentist in Greece.
A) True B) False

22. Medical tourism is thought to become more popular in the future.
A) True B) False

B. Instructions: Read the text and choose the correct answer (4x1=4pts.)

23. What made medical tourism trendy?

A) decreasing costs in Canada and in the UK B) better options in Poland and India
C) cheaper travel and healthcare options D) Greek dentists

24. Which of the following is NOT a reason for medical tourism?
A) Patients’ not considering medical tourism in the past

B) Inexpensive travel and healthcare expenses for other countries
C) Higher costs in people’s native countries

D) Long waiting lists in people’s own countries

25. Maria Paphitis went to Greece for medical reasons because she .
A) was a Canadian citizen in the UK B) could not afford it in her country
C) had to pay €100 in London D) had to wait for weeks to see a specialist

26. What is the reason for the writer to write such a text?

A) To talk about the problems Maria Paphitis had

B) To tell the reasons why medical tourism became popular

C) To make medical tourism more popular

D) To tell the reasons why people choose Poland, India and Greece for medical tourism

PART III: USE OF ENGLISH (14 Points)
A. Instructions: Choose the correct answer (6x1=6 pts.)

27. That man a thief, so I suggest you watch him carefully.

A) must be B) should be C) may be D) would be
28. I would never if I hadn’t had my family’s help.

A) be won B) won C) win D) have won

29. Mrs Hayes reprimanded her son for behaving

A) badly B) well C) bad D) good

30. The traffic us for over an hour.

A) has been delayed B) delayed C) was delayed D) has delay

31. By 2020, I all my studies, I hope.

A)‘ve finished B) ‘m finishing C) ‘1l be finishing D) ‘1l have finished
32. Everyone by the time we got to the restaurant.
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A) was already eaten B) already ate C) had already eaten D) has already been eating
B. Instruction: Fill in the gaps in the text with the correct option. (8x1=8 pts.)

Reclaimed from the Sea
A recent story that (33) front-page news in the UK is the plan to flood land on the east coast of England.
Following discussion with local people, The Royal Society for the Protection of Birds (RSPB) has announced that it (34)
to buy a large area of farmland and turn it into a wildlife reserve. The flat land has been farmed ever since
the Dutch managed (35) a wall around it 500 years ago, creating a single island where previously there (36)
five. Now the plan is to make gaps in this wall, letting the sea come back in to cover the land to a depth of
50 centimetres. This, according to the RSPB, will lead to the return of many kinds of birds, fish, wild plants and animals that

37 there before it dried out. The project also aims to protect the English coast from the effects of climate
change, in regards to flooding, as sea level (38) to rise. The RSPB hopes to raise public awareness of this
problem by (39) people to visit the area when the work (40) .

33. A) had made B) has made C) made D) would make

34. A) was intended B) had intended C) intended D) intends

35. A) to build B) building C) build D) built

36. A) have been B) were been C) had been D) was

37. A) used to live B) live C) have lived D) were lived

38. A) continued B) continues C) would continue D) has continued

39. A) encouraged B) to encourage C) encourage D) encouraging

40. A) has completed B) will complete C) has been completed D) will be completed

PART IV: VOCABULARY (10 Points)
A. Instructions: Complete the text with the correct words. (5x1=5 pts.)

Story of Janet

The upsetting event, which is a moment Miller family can never forget, occurred several days ago in a very prestigious
company. As a successful lawyer, Janet, had a lot of (41) and awards before she went into the jail. Whereas her
successes were published on newspapers in the past years, this week people learnt about the crime she committed on the news.
The police report demonstrates that she killed someone. It wasn’t difficult for witnesses to (42) Janet among other
people because her guilt was clear on her face. From the beginning her family thought that she was not conscious at the time
of her action. They believed she didn’t do anything on purpose. However, suddenly she told all the truth to everyone around
her. Her sudden confession changed her family’s (43) into misery. They lost all their faith. The woman that Janet
killed turned out to be the new manager who the company hired. The reason making her a murderer was more shocking for
her family. As it is seen in the police report, Janet became suspicious of the woman and her husband, John, and thought they

had a secret relationship. Unfortunately, even though he tried really hard, John couldn’t (44) Janet that he never
cheated on her. She will be in prison so long that people will be able to barely recognize her when she goes out (45)

41. A) definitions B) accomplishments C) obstacles D) limitations

42. A) maintain B) adapt C) recognize D) appear

43. A) accuracy B) benefits C) campaigns D) hopes

44. A) believe B) persuade C) support D) decrease

45. A) typically B) accidentally C) considerably D) eventually

B. Instructions: Choose the correct answer to complete the sentences. (5x1=5 pts.)

46. In order to make final decisions, people also need to trust their natural

A) weaknesses B) portions C) brands D) instincts

47. Her helped her to achieve her goals in her business life; she worked hard and never gave up.

A) peak B) generosity C) accuracy D) determination

48. Charles Dickens had a huge on Michael’s life as a writer. He was greatly inspired by him.

A) trait B) goal C) impact D) critic

49. My employer wants to me to another department because I am unhappy and do not fit in here.

A) design B) transfer C) expand D) find

50. Advertisers are trying hard to make buy their products. In this way, they’ll increase their sales and profit.
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A) customers B) responsibilities C) reasons D) solutions
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